MAC 2312 — Fall 2019 — EXAM 2

1. Find the sum of the telescoping serics.
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(b) Determine the sum of the series.
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2. Which of the following series Za" can we conclude converges or diverges
using the direct comparison test (DCT)? What b, do you compare a,, to?

If DCT can not be used, what test can we use?

(You may also use abbreviations: TFD(test for divergent), AST (alternating series test),
LCT (limit comparison test), INT (integral test)).

You do not have to show work.
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1. Find the sum of the telescoping series.
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(a) Determine the nth partial sum s, of the series.
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(b) Determine the sum of the series.
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Which of the following series Z“" can we conclude converges or diverges

using the direct comparison test (DCT)? What b, do you compare a, to?

If DCT can not be used, what test can we use?

(You may also use abbreviations: TFD(test for divergent), AST (alternating series test),
LCT (limit comparison test), INT (integral test)).

You do not have to show work.
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